1.4 Kak BbINMOJIHATbL 3agaHnSA No AHIINIACKOIA CNTIOBECHOCTIU

Pazgen ELA coctonT 13 57 BONpoCoB € MHOXECTBEHHbIM BbI6opoM 0TBeTOB (multiple-choice) ana
OLIeHKW HaBbIKOB peAakT1POBaHMs N MOHUMaHUS NPOYNTaHHOro. Bce 3agaHuns nprBeseHbl B
COOTBETCTBME C yUeGHbIMU cTaHaapTamu Next Generation wTaTta Hblo-Mopk no aHrnuiickoi
C/I0OBECHOCTM U MaTeMaTuKe. Ha ciefyroLx cTpaHnLax NpuBoAaTCA COBEThI MO BbIMOIHEHNHO
3a/laHnN Ha pejakTUPOBaHMe N MOHVIMaHMe MPOYNTaHHOrO.

PepakTupoBaHue, Hactb A

S13bIKOBbIE HaBbIKW, OLEHNBAEMbIe B 3TOM pa3zefie, OCHOBaHbI Ha yYebHbIX CTaHZapTax LTaTa
Hito-Mlopk Mo cnoBecHocTV Anst 7 kNacca, a Takxke HaBblkax U CTaHAapTax NpeAblAyLumnx K1accos.

B kaxz0oM 3aZlaHun npeAnaraeTcst NPoYnTaTh OAHO MPeANoXeHVEe, HECKOBKO NMPeAnoXeHNRA nnm
a63ay, ¢ NPOHYMEPOBAHHbLIMU NPeASIOXEHVSAMU, DK3aMeHyeMbIM TpebyeTcsi BHECTU UCMNPaBeHNs B
COOTBETCTBUM C I3bIKOBLIMY HOPMaMW 1 MpaBuIaMmy NyHKTyaL K.

Mpnmepsl
® Bbl6OP Hanny4yLlero BapraHTa ncnpaBneHns oLwnbKn

m onpejeneHue npeaoXeHns ¢ OLLNGKOM

® y/ydlleHne TekcTa nyTemM o6beArHEHNs MPeANOXEeHWA UK pesakTUPOBaHUSA YacTu
npeanoxeHus

MonesHble coBeThl. PegakTUpoBaHue, Hactb A

> T1pu BbINOAHEHWUY 60MbLUNHCTBA 3a4aHWI CHavana 03HakoMbTechb
C BOMPOCOM, a He C TEKCTOM, YTO6bI MPU YTEHMM TEKCTA 3HATb,
KaKyto OLLINBKY cneayeT nckatb.

Mpe>xae Bcero
npo4ymnTaniTe BONpoc.

> EcTb v cnoBa, dpasbl nan NpeanoxeHns, KOTopble TPYAHO
UnNTaTh 13-3a OLWNBKN B opdorpaduv nam NyHKTyaumm?
3aTem, UmTan TekcT >
B paMKe, oTMeYvaiiTe
BO3MOMXXHbI€ OLLNGKU.
MomHMTE Npu 3TOM O

EcTb I yacTb TekcTa, KOTOPY MOXHO 6b1/10 Bbl HanNMcaTb bonee
SCHO, KPaTKO 1 TOYHO?

> 3aMeTuB OLIMOKY, BbICTPO OTMETbTe 3TO MeCTO B TekCTe. 3T0
MO>eT MOMOYb NpW BbIGOPe BapraHTa OTBeTa.

BpeMeHN.
> VmeliTe B BUAY, YTO 3TV OTMETKM AO/IXHbI COOTBETCTBOBATb
KOHKpPeTHOW TeMe BOMpoca.
PacnnaHupyiiTe > 3apaHee, 0 AHSA CAaYM dK3aMeHa peLUnTe, CKObKO BpeMEHH Bbl
BpeMsi pa6oTbl oTBeeTe Ha YacTb A. 3T0 NOMOXeT BaM 3GdeKTUBHO O0TBEYATb Ha
Haj 3aflaHUsAMN. BOMPOChI BO BpeMsi 3k3aMeHa.




MpyMEPHI 3AAAHNIA. PEAAKTMPOBAHUE. YAacTb A

Sample 1: Select the sentence that needs a revision.
Which sentence in the{paragraph should be revised)to correct an inappropriate shift in verb tense?

(1) For 14 years, James and his dad have had a tradition of attending Yankees games
together, but James is leaving for college next week, and he is agonizing over the fact that
attending school in Pennsylvania and working there over the summer meant no more games
with his dad. (2) One night, as James is packing his clothes into boxes, he hears a soft
knock on his bedroom door. (3) As soon as he opens the door, James sees what is in his
dad’s hands and feels a rush of joy. (4) His dad is holding a bus ticket for a trip home on a
weekend in the spring so that father and son can attend a Yankees game together!

A. Sentence 1 4

B. Sentence 2
YT0bbI OTPesaKTUPOBaTL

C. Sentence 3 ab3al, NpounTaiite nepsoe

D. Sentence 4 npeanoxeHue. Ecan
N3MeHeHUs He TpebyrTcs,
NPoAo/IKaNTe UNTaTb Kaxaoe
npeanoxeHue 1 BapnaHTbl
V3MEeHEeHU, NoKa He HaraeTe
npaBW/bHbIV OTBET.

NS J

Sample 1 Explanation

(A) The sentence is written in the present tense; the verb “meant” shifts incorrectly into past tense. This verb
should instead appear in the future tense, “will mean,” since the verb refers to how things will be in the future.
The corrected sentence will then read, “For 14 years, James and his dad have had a tradition of attending Yankees
games together, but James is leaving for college next week, and he is agonizing over the fact that attending school
in Pennsylvania and working there over the summer will mean no more games with his dad.” The present tense,
“means,” could also be used, as James appears to be coming to this realization in present time. The use of
“means” would make the corrected sentence read as follows: “For 14 years, James and his dad have had a
tradition of attending Yankees games together, but James is leaving for college next week, and he is agonizing
over the fact that attending school in Pennsylvania and working there over the summer means no more games
with his dad.”



Sample 2: Identify a sentence with an error.

Which sentence)in the paragraph contains an error in it

s(construction)and should be revised?

(1) In 2007, visitors to San Francisco, many of whom were attending an international design
conference, had booked almost all of the city’s hotel rooms. (2) Looking for a way to earn
some extra money, three air mattresses were rented out by roommates Joe Gebbia and
Brian Chesky. (3) The 27-year-olds put the mattresses in the loft of their apartment and
charged $80 a night, for which guests received a bed, breakfast, and internet access. (4)
Soon the entrepreneurs realized that they could capitalize on their idea in a much bigger
way, and they established Airbnb, a company that offers around 6 million rental listings in
more than 100,000 cities worldwide.

sentence 1

mom

sentence 2
sentence 3

I o

sentence 4

-

Sample 2 Explanation

YTOObl HANTW 3TO NPeAOXeHNe,
BHMMAaTE/IbHO YNTaNTe TeKCT,
NOMHS 0 BpeMeHW. He untanTe
NoBepXHOCTHO. OLbKa MOXeT
6bITb B 1H060M MecTe.

~

J

ObpatuTe BHUMaHMeE, UTO
oLIMBKA OTHOCUTCH K
cmpykmype npedsoxeHus, T. €. K
TOMYy, Kak csioBa 1 ¢pasbl
pacronaratoTcs B NpeAoxXeHunn
C Luenibio nepegayn
(MpeacTaBneHUs) CBA3U MeXay
naesamu.

J

(F) In sentence 2, the modifier “Looking for a way to earn some extra money” incorrectly modifies “three air
mattresses” when it should modify “roommates Joe Gebbia and Brian Chesky.” This error in construction can be
corrected by making “roommates Joe Gebbia and Brian Chesky” the subject of the main clause and using the
active voice. The corrected sentence will read “Looking for a way to earn some extra money, roommates Joe
Gebbia and Brian Chesky rented out three air mattresses.”



Sample 3: Improve the writing by combining sentences or revising part of a sentence.

What is the best way to@ombine these sentences)to clarify the relationship between ideas?

(1) In 2019, 15-year-old Cori “Coco” Gauff defeated Venus Williams in the first round of
Wimbledon.

(2) Wimbledon is the world’s most prestigious tennis tournament.

(3) Gauff made history as the youngest player in almost 30 years to win a women'’s singles
match at Wimbledon.

A. Making history at the world’s most prestigious tennis tournament in 2019, 15-year-old Cori
“Coco” Gauff defeated Venus Williams, in the first round, making Gauff the youngest player
in almost 30 years to win a women’s singles match at Wimbledon.

B. At the world’s most prestigious tennis tournament, Wimbledon, 15-year-old Cori “"Coco” Gauff
made history in 2019 by defeating Venus Williams in the first round, making the teenager the
youngest player in almost 30 years to win a women'’s singles match.

C. In 2019, 15-year-old Cori “"Coco” Gauff made history when she defeated Venus Williams in
the first round of Wimbledon, becoming the youngest player in almost 30 years to win a
women’s singles match at the world’s most prestigious tennis tournament.

D. In 2019, history was made at the first round of Wimbledon, the world’s most prestigious ten-

nis tournament, when 15-year-old Cori "Coco” Gauff defeated Venus Williams to become the
youngest player in almost 30 years to win a women'’s singles match.

[ )

YT0bbl 06beAVHNTL MPeAOXEHNS, BbIACHUTE,

1. ECTb 111 B TEKCTE HEHYXXHbIE NOBTOPLI (ChoBa/
naen)?

2. Kak cBsi3aHbl pasHble ngen?
MpeaCTaBAAOT NN OHU MPUYUNHY U
CNeACcTBYE, MPOTUBOMOIOXHbIE Ve,
nocsiefoBaTeNIbHOCTb U Mp.?

N J

Sample 3 Explanation

(C) This revision clarifies the idea that Gauff made history by becoming the youngest player in decades to win a
women's singles match at Wimbledon and that she did so when she beat Venus Williams. The revision also
explains that Wimbledon is the “world’s most prestigious tennis tournament” in a way that is clear and logical.



PepakTupoBaHue, Hactb B

3azaHusa Yact B OLeHNBAOT YMEHME YnTaTb TEKCT U MPUHMMATb PELLEHNS 415 YyULLEHWS ero
KauecTBa B LieIoM. B 3TVX TeKCTax ONMUCHIBAtOTCS NCTOPUYECKME N TEKYLLME COBLITUS; NHOAM, MECTa,
TEXHONOTNN, ABNIEHNS, KOTOPbIe ABATCA NPeAMETOM NCCIeA0BaHMSA HAYK O XMBOW N HEXMBO
NprpoZe 1 06LLECTBEHHbIX HayK. Kaxzaoe npeanoxeHne NpoHyMepoBaHo, YTo6bl 06/1erynTb NomUck
KOHKPETHbIX YacTeli OTpbIBKa.

TekcT moxeTt coaepXatb OLLINBKW, Takne Kak

® HenpaBWibHOe ynoTpebieHne C10B U BblpaXeHN

® HejoCTaloLMe UK HEeHYXXHble BCOMOraTeNbHble eTanu

® NponyLeHHble NN HeYMeCTHble NepexojHble CN0Ba, Gpasbl NN NPeaIoXeHNS
B OTCYTCTBYHOLUMIA NN HEACHbIN BCTYNUTENbHBIA WY 3aK0UNTeNbHbIV naparpad
B HesCHOe WM HeNIorMYHOoe NOCTPOeHe TeKCTa

m jpyrue OLIJVI6KVI, CBA3aHHbIE C A3bIKOBbIM/ HOPMaMW 1 CTaHA4apTamMu no NnncbMy

MonesHble coBeThl. PegakTuUpoBaHue, Yactb B

> BaymMunBOe UTeHe NMOMOXKET MOHSTL Lie/lb, OCHOBHYH 1AEet0
aBTOpa 1 COMyTCTBYIOLLME AeTanu TeKCTa, YTO6bl OTBETUTb Ha

Npexxpae Bcero BOMPOCHI, KaK YAy4LLNTb CTPYKTYPY 1 COAepXKaHMe TekcTa.
BHUMATE/NIbHO

npoymnTaliTe TEKCT,
NOMHS O BPEMEHW.

He yuTtaiite
NOBEPXHOCTHO. » CHayana npoutuTe TekcT. O6paTnTe BHUMaHMe: NOPSAOK, B

KOTOPOM BbIMOJIHAKOTCA 3a4aHus Yactu A v YacTu B, pasnnyeH. B
Yactn A HY>XXHO CHavasa npoumnTtaTb 80npoc, a B Hactu B — mekcm.

> HekoTopble NpeAnoXeHns 1 ab3aLlbl MOTyT NokKasaTbCs
3anyTaHHbIMUW, HENOTUYHBLIMU, HEHYXXHbIMY, HEOPraH30BaHHbIMY
VAW B LEeSIOM TPYAHBIMU AN YTEHWS.

> BepHUTeCh K TEKCTY 1 NepeymnTainiTe COOTBETCTBYHOLLME
NPeAoXeHUs UK ab3allbl, yNOMsiHyTble B BOMpOCe.

3aTemM BHMMAaTENbHO > BO03MOXHO, 6y1eT HEOBXOAVIMO MPOCMOTPeTh TEKCT A0 1 Nocne
npoumnTaiiTe KaXKablii NPeAnoXKeHUsl, Ha KOTOPOe MPUBOAMUTCS CCbIIKa B BOMPOCE.
sonpoc. MomHuTe 0 > PaccMoTpuTe Kaxblii BapuaHT 0TBeTa, MepeyunTbiBas TekcT no
BpeMeHn. Mepe Heo6X0AVMOCTH (eI MO3BOASIET BpeMst). OnpedenviTe,
npeAnaraeT v BbIGPaHHbIM BaMy BapUaHT NyULLyr peaakLyio
TeKcTa.
PacnnaHupyiite > ELLe /0 5K3aMeHa peLLnTe, CKoNbKO BPEeMEHV Bbl OTBEeTe Ha
Bpemsi pa6oThl YacTb B; 3TO MOMOXET BaM 3pGEKTVIBHO OTBEUAThL Ha BOMPOCHI
Hag 3afaHUAMN. BO BpeMsl 3Kk3ameHa.
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MpumEPLI 3A0AHWIA. PEAAKTVPOBAHUE. HYACTb B

]
Learning to Embrace the Gap Year

(1) The traditional academic plan for college-bound students in the United States is to
complete high school in June and begin college courses in August or September, but some
experts wonder whether this plan is appropriate for all students. (2) Young adults are still
exhausted from attending secondary school. (3) They are sent to college with little to no
transition time. (4) They struggle with a lack of direction, have minimal life experience,
and are not adequately prepared to succeed. (5) Many students are simply starting college
before they are ready.

(6) A gap year is when a student takes a one- year hiatus from schooling for nonacademic
activities. (7) This break in the academic track gives young adults a chance to explore
possible program options, gain volunteer experience, and achieve personal growth. (8)
Through a variety of opportunities, gap year participants can develop new skills and
interests. (9) The break can also help prepare students for the challenges of college
coursework by giving them additional time to mature. (10) Succeeding at the college level
can be challenging at first, but when determined students adjust and employ good study
habits, they will thrive.

(11) Earning money can be a tempting choice, and some young adults may find that they no
longer desire a college degree after entering the workforce. (12) While gap year critics do
have a valid concern, a 2010 Wall Street Journal article cited research that found that “90%
of students who took a gap year had returned to college within a year.” (13) And the Gap
Year Association, a worldwide accredited nonprofit that promotes the benefits of a gap year,
maintains that “taking a structured gap year invariably serves to develop the individual into a
more focused student with a better sense of purpose and engagement in the world.”

(14) The choice to take a gap year may not be for all students, but it could be the best path
for some. (15) Students need to know that this is a good choice that will be supported if it

is what they want. (16) Taking a gap year could help students become more successful as

adults in their community.

1. Which sentence should follow sentence 5 to introduce the main claim of the passage?

A. Taking a gap year away from formal education to determine their personal aspirations is
the answer for these students.

B. For some students, the benefits of taking a gap year after high school could significantly
increase their chances of achieving collegiate success.

C. When students are academically and emotionally prepared, they are guaranteed to
experience greater success in their higher education endeavors.

D. Students who take the time to mature and gain knowledge outside of the classroom will
experience more satisfaction, purpose, and accomplishment in their life.

11



2. Which revision of sentence 8 uses the most precise language?

E. Through different experiences and discoveries, gap year participants can develop new skills
and interests.

F. Through a range of opportunities and training, gap year participants can develop new skills
and interests.

G. Through internships, work, travel, or volunteerism, gap year participants can develop new
skills and interests.

H. Through a variety of jobs, programs, and charities, gap year participants can develop new
skills and interests.

3. Which sentence should be added before sentence 11 to introduce the ideas in the third paragraph
(sentences 11 - 13)?

A. Some gap year opponents worry that young adults who take a break from academia for
activities such as a job may never return.

B. In addition to helping students become better prepared for college, a gap year could be useful
to those with financial constraints.

C. Students complain that there is not enough time between high school and college to earn
money for college.

D. There is growing concern among some experts that a gap year may be too expensive for
many students to even consider.

Sample 1 Explanation

(B) Option B is the best sentence to follow sentence 5 and supports the main claim. This sentence clearly states
the claim in that the gap year can lead to success in college for some, but not all, students (as revealed in
sentence 14). This idea is developed throughout the passage by explaining what a gap year is and how it benefits
students.

Sample 2 Explanation

(G) Option G uses the most precise language and is the correct response. The imprecise reference in sentence 8
to “a variety of opportunities” is replaced with the more specific and precise reference to what these
opportunities entail. They may be “internships, work, travel, or volunteerism.”

Sample 3 Explanation

(A) Option A is the correct sentence to add before sentence 11. The third paragraph introduces, and then refutes,
a counterclaim about gap years in that they may encourage young people to forgo college entirely. This sentence
clearly introduces this counterclaim that the paragraph elaborates on and then refutes with evidence.

12



NMoHnMaHMe npounTaHHOro

B aTom pasjene oueHnBaeTcAd CMOCOBHOCTb YUNTATb U MOHVMAaTb NPOYNTaHHOE. Bam 6yAET
npeanoxXeHo A0 WecTn TEKCTOB KaK INTEPATYPHOI O, Tak U I/IH(I)OpMaLJ,VIOHHOI'O XKaHpPOB.

TeKkcTbl UHGOPMALMOHHOrO XXaHpa

onucaTenbHble/MOACHNTENbHbIE TEKCThI

GYHKLMOHANbHBIV TEKCT:
* 3cce

* peub
* CTaTbs-MHeHue

* 04epK Mo UCKYCCTBY U AanTepaType
* buorpadus

* Memyapsbl

* XypHanmcTvka

TeKCTbl MO NCTOPUYECKON, HAYUYHOM,
TeXHMNYeCKOM 1 SKOHOMUYECKON TemaTuke,
paccUnTaHHbIe Ha LWNPOKYIO ayANTOPUIO

TeKCTbl INTEpPaTYpPHOro >aHpa

- M0331s

 HebenneTpuyeckunin Tekct

13



MonesHble coBeTbl. MOHMMaHME NPOUYNTAHHOIO

BHUMaTeNnbLHO > BHVMaTeNbHO NPOUKTaliTe TEKCT, UTO6bI MOHATH Kak OCHOBHbIE
npounTaiiTe TeKcT, naew, Tak 1 BaxHble AeTanu.

MOMH: 0 BpeMeH!. > ECnuv npeanoxeHuve nnu ab3all He ACHLI, MONpobyiiTe 6LICTPO
He uutante nepeuntaTh UX.

NOBEPXHOCTHO.

> YuTtas TekcT, Aenaiite kpamkue 3anmncu, YTobbl OTMETUTb BaXHble
fetann, 0606WNTL naeun 1 np.

> BHuMMaTeNnbHO I'IpO‘«II/ITaI\/JIT6 BOMpoc, UTOBbI YETKO MOHATHL ero

BHUMaTeNbHO cozepxaHue. TpebyeTcs 1 BaM COCPeAOTOUNTLCSA Ha AeTansx
O3HaKoOMbTeChb C OfHOrO W/ HECKO/bKMX ab3aues?
BOMpocomMm. > EC/in no3BoONSieT BpeMs, nepeymnTanTe COOTBETCTBYHOLLYHO YacCTb

N 4acth TeKkCTa.

> [lpozymaliTe OTBET Nepes UTEHVEM NMPeAIOXKEHHbIX BAPUAHTOB.
3aTeM nNpoumnTaiiTe BapMaHThbl, UCKIOYMTE ABHO HEMpPaBU/ibHbIe
OTBeTbl 1 BblbepuTe TOT, KOTOPbIN Hanay4YLLNM 06pa3om
COBMagZaeT C BalLVM BbIBOJOM.

Monpo6yiiTte
onpeaenuUTbCA €O
CBOMM OTBETOM
A0 NpoYTeHns
npeanaraembix
BapuaHTOB.

» OTBeTbl 4O/IKHbI 6bITb OCHOBaHbI TOJIbKO Ha coaepXKaHnm
TekcTa (» conyTCTByROLWNX NNNKCTPpaUnax, rae 3To yMeCTHO). He
rnonararitecb Ha CBOU npeXXHme 3HaHnA rno TemMe.

> [lo AHS C@4M dK3aMeHa peLunTe, CKoIbKO BPEMEHW Bbl OTBeeTe
Ha KaxxAoe 3ajaHuve B pa3jesie Ha MoHVIMaHne Npo4YnTaHHOro;
3TO MOMOXeT BaM 3$deKTVBHO 0TBEeYaTb Ha BOMPOCHI BO BpeEMS
3K3ameHa.

PacnnaHupyiite
Bpems pa6oThbl
Hap 3afaHnNAMW.
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MPMEPDI 3A0AHUIA. MOHNMAHME NPOYNTAHHOIO

Snoozing While Soaring

1 Certain types of birds soar for hundreds of miles, over land, over sea—and never stop to rest.
That kind of endurance seems impossible to us, since we as people need time to rest and sleep.
Researchers set out to learn how birds could fly for such long distances without restorative rest.
They found that for some birds, settling in for a good night’s rest is not always a necessity.

2 In 2013 Felix Liechti and his research colleagues at the Swiss Ornithological Institute published
results of a study about the flight habits of Alpine swifts, small birds that migrate annually
between Europe and Africa. Liechti and his team fitted the birds with small electronic tags that
recorded the birds’ acceleration and their pitch, or angle relative to the ground. The data revealed
that the birds remained completely airborne during their time in Africa, a period of over 200 days.
Since all animals require sleep, the researchers inferred that the birds slept from time to time on
their long journey. However, since the electronic tags recorded only movement such as gliding or
flying, and not brain waves, the question of whether birds sleep during flight remained
unanswered.

3 Researcher Niels Rattenborg from the Max Planck Institute for Ornithology also delved into this
question. In a 2006 article Rattenborg explained that it was theoretically possible that birds could
undergo a certain type of sleep while flying. Like mammals, Rattenborg explained, birds
experience different types of sleep, including slow-wave sleep (SWS). Rattenborg argued that
SWS during flight is plausible because SWS can happen in one hemisphere of the brain at a time,
leaving half of the brain essentially awake while the other half sleeps. The eye associated with the
“awake” hemisphere can still function, allowing a bird to see where it is going. Rattenborg decided
that electroencephalogram (EEG) recordings of birds’ brain waves would ultimately be necessary
to determine whether a bird can actually sleep in flight.

4 Eventually, Rattenborg and his team were able to create an experiment to prove this theory by
studying frigatebirds from the Galdpagos Islands. These enormous birds are good subjects for
avian-sleep research because they fly far out to sea to hunt fish. However, unlike many seabirds,
they cannot land on the water to rest because the physical build of their body—long wings, poorly
webbed feet, and minimal feather waterproofing—makes them unable to take off again from the
surface of the water. Rattenborg concluded that they must remain in flight for up to two months at
a time.

5 In an article from 2016, Rattenborg outlined the team’s research methods and conclusions. The
team humanely implanted EEGs on the skulls of several frigatebirds. After analyzing the EEG
readings of the birds while in flight, the team determined that the frigatebirds slow-wave slept for
about ten seconds at a time at points when the birds were gliding upward via warm air currents,
typically the safest part of the flight. While in flight the birds slept for only 45 minutes a day,
which is just enough rest for the birds to function during these long flights. They later recovered
from the stress of going with very little sleep when they rested for approximately twelve hours
each day back on land.

6 Using EEG recordings, Niels Rattenborg solved the puzzle of when birds sleep while traveling long
distances. His evidence proved that his theory was correct, and the birds proved themselves to be
the ultimate multitaskers as they manage sleep and flight at the same time.
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1. Read this sentence from paragraph 1.

That kind of endurance seems impossible to us, since we as people need time to
rest and sleep.

The words “endurance” and “impossible” in the sentence convey

A. amazement about the physical capability of birds to remain in flight for extended periods of
time over long distances.

B. uncertainty about the conditions that allow birds to stay in flight for extended periods of time
without rest.

C. excitement about the opportunity to share research into how birds fly for extended periods
of time.

D. skepticism about discovering how birds can fly for extended periods of time with little or no
rest.

2. Which sentence from the passage best supports the idea that birds seem to be capable of
making prolonged flights without sleeping?

E. "“The data revealed that the birds remained completely airborne during their time in Africa, a
period of over 200 days.” (paragraph 2)

F. “In a 2006 article Rattenborg explained that it was theoretically possible that birds could
undergo a certain type of sleep while flying.” (paragraph 3)

G. "“Rattenborg decided that electroencephalogram (EEG) recordings of birds’ brain waves would
ultimately be necessary to determine whether a bird can actually sleep in flight.”
(paragraph 3)

H. “While in flight the birds slept for only 45 minutes a day, which is just enough rest for the
birds to function during these long flights.” (paragraph 5)
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3. Which statement best summarizes the conclusions of the studies presented in the passage?

A. Scientists used monitoring devices to determine that the seconds when migratory birds glide
upward in warm air currents are safest for slow-wave sleep.

B. Using monitoring devices, scientists confirmed that migratory birds sleep for an extremely
short amount of time while in flight and recuperate by sleeping for an extended period of
time after they land.

C. Scientists used monitoring devices to determine that migratory birds require significantly less
sleep than many other animals and to show that the birds use only one hemisphere of their
brain while flying.

D. Using monitoring devices, scientists confirmed that some types of migratory birds rely on
slow-wave sleep cycles in order to stay in flight for extended periods of time.

4. The overall organizational structure of the passage allows the author to
E. contrast the significance of research findings related to small migratory birds with those

related to large migratory birds.
F. compare the in-flight sleep patterns of the various types of birds examined in several studies.

2

emphasize the role of technology in studying sleep patterns of birds in flight.

H. illustrate how researchers acquired a better understanding of the sleep patterns of birds in
flight.

Sample 1 Explanation

(A) Option A is the correct response because it explains that the words “endurance” and “impossible” convey
amazement at the birds’ ability to remain in flight for so long without resting—as opposed to human beings, who
“need time to rest and sleep” (paragraph 1). Specifically, the word “impossible” implies a sense of wonder or
disbelief at the birds’ endurance, which allows them to continue flying for hundreds of miles without stopping.
The words “endurance” and “impossible” support the idea expressed later in the passage that these birds are the
“ultimate multitaskers” (paragraph 6).

Sample 2 Explanation

(E) Option E best supports the idea that birds seem to be capable of making prolonged flights without sleeping, because
it expresses the idea that the birds “remained completely airborne” during “a period of over 200 days” (paragraph 2).
This information is significantly more precise than the information in the other answer options. Therefore, option E
provides more compelling evidence to support the idea in the question than the other answer options provide.

Sample 3 Explanation

(D) Option D best summarizes the conclusions of the studies presented in the passage. While all the options include
some important details about the study of migratory birds, option D accurately states the key conclusion of these
studies, which is that these birds “rely on slow-wave sleep cycles in order to stay in flight for extended periods of time”
(paragraph 5). Option D's emphasis on the key conclusion rather than on key details makes it the correct response.

Sample 4 Explanation

(H) Option H best explains the effect of the overall structure of the passage. The passage presents an unresolved
question in paragraph 2, while paragraph 3 explains one researcher’s attempt at seeking an answer to the
question. Paragraph 4 describes the bird the researchers chose due to its physical makeup and feeding habits.
Paragraphs 5 and 6 illustrate the details and outcome of the study, revealing the researchers’ conclusion.
Therefore, the overall structure of the passage illustrates how researchers improved their understanding of the
sleep patterns of birds in flight.
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1.5 Kak noarotoBuTbCA K 3agaHUAM MO MaTeMaTuUKe

STOT pasjen coCcTouT 13 3aja4 1 NPUMepoB ANS BbluMcaeHUs. Peluas nx, Hy>Ho 1160 Bbl6paTh
NpaBU/bHbIV OTBET 13 HECKOJIbKMX BapuaHTOB, 11Mbo BN1caTb CBOV OTBeT. B passene natb 3agaHuii
€ 3anncblo oTBeTa (grid-in) 1 52 BonNpoca ¢ MHOXeCTBeHHbIM BbIbopom (multiple-choice). 3agaHns no
MaTemaTuke npenonaratoT NpMMeHeHne MaTeMaTUYeCcKX HaBbIKOB, MaTeMaTUYeCKnNX TEPMUHOB

1 O6LLUMX MOHATUI 13 yueBHbIX cTaHaapToB Next Generation wTaTta Hblo-Mopk no aHrnuiickoii
C/I0BECHOCTM U MaTeMaTuKe. [pu BbiNoAHeHU 3a4aHnii SHSAT oT Bac noTpebyeTcs NpUMeHsTb
nofly4eHHble MaTeMaTUYeCcKe HaBbIKM A8 peLleHns CI0XKHbIX 3aJjay B HECKOJIbKO AeNCTBUIA.

Ha cnefyromx cTpaHuLax Bel HalijleTe COBeThI, KOTOPbIE MOMOrYT BaM MNOArOTOBUTLCA K cadye
MaTemaTtmyeckoro pasgena SHSAT. OHn BkIrOYaKoT

COBETbI MO ynyylleHo MaTeMaTn4eCcknx HaBbIKOB Mo I'IpO6ﬂ€MHbIM ANnd BaC TeMaMm

COBeTbI M0 03HAKOMEHUIO C TpeboBaHMsIMU SHSAT, KOTOpble MOTYT OTINYaTLCS OT TpeboBaHWi
APYrx 3Kk3aMeHOB Mo MaTeMaTuke

m COBETbl MO pelweHno 3a4a4 C MHOXeCTBEHHbBIM BbI60pOM

B COBeTbl MO peLleHNto 3aaHuiA C 3anncblo OTBeTa
MprmeyaHmne. OTBeThI U MOACHEHNA K 3aJaHVAM MaTeMaTUYeCcKoro pasgena — Ha cc. 23-25.

JK3aMeHaLMOHHble BOMPOCkl MO MaTeMatuvke Ana 8 Kjacca OCHOBaHbI Ha MaTeprasnax, BXOAALLNX B
yuebHble cTaHAapThI WTaTa Hbto-MopK A0 7 Knacca BKAKUNTENbHO. K3aMeHaLOHHble BONPOCh! MO
MaTemaTtuke Ana 9 Knacca oCHOBaHbl Ha MaTepranax 4o 8 Kiacca BKAUYUTE/NbHO.

._ CoBeTbl No yayylweHn MmateMaTnyeCKnx HaBblIKOB

Monb3yiitechb > lcnonb3yliTe CBOM y4ebHWK, HAANTE MaTepuansl B LLUKOAE NN
pasnnyHbIMMN B MeCTHOM 61ubanoTeke 1 obpaLlalitecs K y4nTe o ¢ Npocsboi
pecypcamm. nopekoMeHJoBaTb BaM Apyrme pecypchbi.

» PelleHue 6a30BbIxX 3a,u,aH|/||7| 3aKpenideT MatemMatnyeckme
HaBbIKW, Takmne KaK ynpoLlieHne ,u,po6el7| n nprmMmeHeHune
CTAaTUCTUYECKUNX MOHATU.

Pewavite > bonee cNoxHble 3aaHNsi TPEOYIOT COCTaBNEHNS CTOXKHBIX
MaTemaTmyeckme YPaBHEHWNN B HECKONBKO AeCTBUIA. AN UX UX peLleHns MoryT
3aZ,aumn KaXkabli AeHb. noTpeboBaTbCsA Pa3NNYHbIE MaTeMaTyeckmne HaBblkK. K
PewaiiTe Kak npocTbie, npumepy, ANst BbINOAHEHWS OAHOrO 3aAaHNSA MOTYT MOHAA06UTLCS
TaK M C/I0XKHbIe AeViCTBUS C Ap06SMU, peLleHme YpaBHEHUIA 1 3HaHWe CTaTUCTUK.
3afaHmns.

» ECnu Bbl He 3HaeTe, Kak OTBETUTb Ha BOMpOC, nponycTtnTe ero
N BEPHUTECH K HEMY MOC/1€ BbIMOJIHEHUNA APYTNX 3a,an|/||7|.
Bo3mMOXHO, K TOMY BpeMeHWN y BaC NoABUTCA METO/, peLUeHNA
3aaHn4.
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UTo cneayeT NOMHUTBL NPY NOArOTOBKE MO MAaTeMaTUUYEeCKOMY pasgeny

> Bbl JOMKHbI BNageTb MaTeMaTUYeckKUMmn TepMrUHaMmn CBOEro
y4ebHOro ypoBHS, TaKUMK, KaK «napanfienb» 1 «neprneHAnKynsp»,
a TaKkXke 3HaTb COOTBETCTBYHOLLME CMBO/IbI.

3ayuuTe > MaTemaTuyeckune TepMUHBI, CUMBO/BI 1 GOPMYbI, HaNpyMep,
MaTemaTuuyeckme ANS MepuMeTpa 1 MIoLWAAN PasNnUHbIX GUryp, MOXHO HaTV B
TE€PMUHBI, CUMBOJIbI CBOWX yUYebHbIX MaTepranax no MaTemaTuKe i OHNaliH B y4e6HbIX
1 popmMynbl, KOTOpble ctaHgapTax Next Generation wrata Hbto-Vlopk no aHraniickoli
NCnonb30BanunCh Ha CNIOBECHOCTU 1 MaTemaTuike ans 7 1 8 knacca.

ypokax MaTeMaTuku. > B 3Kk3ameHaLMOHHOM bykneTe HE 6yaeT onpegeneHuii u

06BACHEHN TEPMUHOB, CUMBOJIOB 1 GOPMY/. YNpaxHaTecb B
X NCMOJIb30BaHWM, MOKa He 3aNOMHUTE Han3yCTb U He CMOXeTe
yBEpPEeHHO MPUMeHSATb.

Bo Bpems pelLueHus > Ha sk3ameHe SHSAT nNonb30BaThLCA KalbKyNATOPOM He
3a/la4y He nosnb3yinTechb pa3speLuaercs.

KanbKynAaTOpPOM.

PacnnaHunpyviTte > 3apaHee, |0 [HA 3K3aMeHa peLunTe, CKOJIbKO BPEMEHN Bbl
Bpems pa6oThbl oTBejeTe Ha MaTeMaTUYeCcKniA pasgen; 3T0 MOMOXeT BaM
Hap 3afaHNAMW. 3¢ deKkTMBHO OTBEYaTb Ha BOMPOCHI BO BPeMs dK3amMeHa.
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._ CoBeTbl NO peweHno MmaTeMaTnyeCKnx sapa4y

> YT06bI pewnTb CZIOXKHYH 3a4a4y, H€O6XO,EI,VIMO MCcnob30BaTb 8CHO

BaXHY0 HGOPMaLMIO 13 3a4aHNS.
BHnmaTenbHO

O3HaKOMbTeCh C
Ka)kAbIM 3a4aHUEM.

> Cpenarite nomeTku, Kak B MNpumMepe 1, 4Tobbl yoeanTbCs, UTo Y Bac
eCTb BCA MHbOPMaLMS AN1A peLLeHns 3a4aHns.

> 3anuuTe 3ajaHue B BUAEe MaTeMaTNUYeCckoro BblpaxeHus (Kak B
Mpumepax 1 n 2).

+ x, x+1 = -5

\ \

The(sum)of(two consecutive integers)is -15) If 1 is added to the smaller integer and 2 is
subtracted from the larger integer, what is the product of the two resulting integers?

[oTOBACH K peLleHnto
3a4a4n, fenamte NOMeTKM.

J 2K J-5

tarts a game with(twice as many marbles as Keiko)(Jenny gives Keiko 5 marbles) but she
still has 10 more than Keiko. How many marbles did Jenny have to start with?

A. 25

3amMeHuTe C/10Ba B
B. 30

3a/laHnK Ha
C. 35 MaTemaTunyeckume
D. 40 CMBO/bI.
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HapucyiiTe cxembl Unmn > Hapucyiite cxembl UKW ArarpaMmbl, Kak B MpriMepe HYXe, YToObI

AVarpamMmbl, €c/ii UX HeT HarnsiAHO MPeACTaBUTL COAepPXKaHVe 3aaHNS.
B 3agaHNW.

L=3x

W=2x W=2x

L=3x

The perimeter of a rectangle is 510 centimeters. The ratio of the length to the width is 3:2. What
are the dimensions of this rectangle?

E. 150 cm by 105 cm

F. 153 cm by 102 cm lNomMeTbTe CxeMbl 1
G. 158 cm by 97 cm Anarpammel.
H. 165 cm by 90 cm
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> B HEKOTOPbIX 3a4aHNAX HeobX0AMMO BbIMO/IHUTb HECKO/IbKO

[OeiicTByliTe o o o o
Aencteuii. NMpu pelleHn Taknx 3agay AecTByTe NO3TanHo, Kak
nocnegoBaTesbHO.
B NpuUMepe HuXe.
Sample 4

1 dollar = 7 lorgs
1 dollar = 0.5 dalt

Malik has 140 lorgs and 16 dalts. If he exchanges the lorgs and dalts for dollars according to the
rates above, how many dollars will he receive?

A. $28
B. $52 140 7 3tan 1: KoHBepTnpoBaTb
C. $182 —X— = T Noprv B AosiNapbl.
D- 3282 7x=140
x=420
ST1an 2: KoHBepTVpOBaTb
AanbTbl B 4ONNAPLI.
16 _0.5
X
0.5x=16
x=$32
3tan 3: CIoXuUTb
pesy/nbTaThl
20+32=452 KOHBepTauuu (Hantn
cyMmy).
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CoBeTbl NO peweHn0 MaTeMaTN4eCKnx sagaa4y ¢ MHOXKeCTBEHHbIM

Bbl6opom

BoNbLUMHCTBO 3a4aHNA > PelnTe 3agauy neped 03HaKOM/IEHVEM C BapMaHTaMu OTBETOB.
C MHOX>XECTBEHHbIM 370 6onee 3dPeKTUBHO, YEM CHaYasla NPOUNTATL OTBEThI 1 3amem
Bbl6OpOM MbITaTbCA OLEHNTb TOYHOCTb KaXA0ro 13 HUX.

BbIMOJIHAIOTCA NyTEM
noncka noaxoasLuero

peLueHms.
> [lony4ymB CBOV OTBET, 03HAKOMbTECH C BApVAHTaAMW.
CpaBHWTe CBOV OTBET C NPeNoXeHHbIMWU BapraHTaMu. Ecnu
CPeAV HVX ecTb Ball OTBET, OTMETbTE 3TOT BapuaHT. EC/in HeT,
nepevunTalriTe BONpoC 1 pelunTe 3agadvy CHOBa.
BbINONMHANTE AeﬁCTBVIﬂ > Ecnm Balwl oTBeT He BXOAWT B UKMC/10 BapNAHTOB, HOAyMaVITe
5
Ha 6ymare (a He B yme), 0 Apyrux cnocobax ero 3anucu. Hanpumep, BelpaxeHuee 3(3 +X)
cocpeaoToOHMBLUNCE Ha MOXHO MPeACTaBUTb B CIeAyHOLLEM BUAE:
peweHuu, a He Ha nodbope
53 +x) 5 5 5 b5x
BapuaHTa oTBeTa. 2070 =+ 2x v = + 22
9 3 9 3 9

» Ecnwv Baw oTBeT no-npexHemy OTCYyTCTBYET Cpean npegnaraeMblixX
BapnaHTOB, Bbl6epVITe M3 HNX O4UH, KOTOprI7I BaM Ka>XeTcd
CaMbIM MpaBn/IbHbIM n/vnn BEPHUTECH K 3a4aHNIO MO3>Ke rnpun
Hann4nm BpemMeHNn.

Sample 1 Explanation

If x is the smaller consecutive integer, then x +1 is the larger consecutive integer. Use their sum -15
to find x:

X+(x+1)=-15
2x+1=-15
2x=-16
Xx=-8

The two consecutive integers are -8 and 7.

One is added to the smaller integer: -8 + 1 = -7.

Two is subtracted from the larger integer: =7 - 2 = -9.
Find the product: -7 x -9 = 63.
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Sample 2 Explanation
(D) Set up some equations.

Jenny (/) has twice as many marbles as Keiko (K): / = 2K

Jenny gives Keiko 5 marbles, so now they each have: /-5 and K+ 5 marbles.
Jenny still has 10 more than Keiko:

J-5=(K+5)+10

To find how many marbles Jenny had to start with, solve J = 2K for K and substitute that into the
second equation:

In equation J = 2K, solve for K: K = é
Substitute é in for K.
J-5=(K+5)+10

j—5=(é+5)+10

_J
5—2+15

j_
J _
5= 20

/=40 marbles

Sample 3 Explanation

(F) Let 2x =the width and 3x = the length.
Draw the rectangle to help visualize.

3x

2x 2x

3x

Since 2w +2/ = P, we get

2(2x) + 2(3x) = 510

4x + 6x =510

10x =510

Xx=51

2x=102cm and 3x =153 cm
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Sample 4 Explanation

(B) Use proportions to make the conversions:

Lorgs to dollars:
140_7
X

7x =140
x=%$20
Dalts to dollars:

16 _05
X 1

0.5x=16
x=$32
Total dollars = 20 + 32 = $52
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3anuncb OTBETOB N0 MaTemMaTuke

Pasgen mateMaTuKy BKIKOYAET B cebsa NATb BOMPOCOB C 3aMnncbo OTBETA, B KOTOPbIX HEO6XO/J,I/IMO
nponssBecT Bbl4McneHme n BHeCTn HpaBMﬂbeIVI UMCNOBOW OTBET, a He BbI6VIpaTb OTBET U3
HECKOJIbKUX npedsiaraeMbiX BapnaHTOB.

» CeTka Kaxaoro BOrpoca COCTONT U3 NATU CTON6U0B. BHOCUTL CBOW OTBET HauMHalTe CieBa.

> OTBEeT BHOCUTCS B AYENKM BEPXHEN YacTn CeTKM.

> B oZHy fiueliky MOXHO BMUCbIBaTb TONIbKO OAHY LbPY NN AeCATUUHBIA ciMBOA. Mpw
HeobX0AMMOCTH, B KAaYeCTBe AeCATUYHOMO PasjenTens NCNob3ynTe CUMBON «.».

> 3aKpacbTe KPYXOK MOJ siYeinKoi, COOTBETCTBYHOLLMIA 3anmncaHHOMY BaMy YMCY UK
CYMBOY.

EXAMPLE A EXAMPLE B
(Answer: 5) (Answer: 3.2)
il L I N M I
G000 son OO “pant
cocoi ool
Fill in the circles ®®®® ®®Q®
that correspond @ @ @ @ Q @ @ @
to the answer OEEO® OOO®
boxes. le/e)e ®EEE
ozed o
| HOE®E® CEEE
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3anucb OTBETOB MO MaTemMaTUuKe (npodosiceHue)

> [lepBblil cTonbel, ceTkn npegHasHaveH TOJIBKO ang 3anmncy oTpmuLaTeIbHOT0 3HaKa, Kak
B Mpumepe C. ECv 4ncio B BalleM OTBeTe MONOXUTEIbHOE, OCTaBbTe MepBblil CToNbeL,
NyCTbIM 1 HaYMHalTe 3anncb CO BTOPOro cTonbua.

EXAMPLE C
(Answer: —1.5)

- 1.5
egative Decimal
sign OQOO (_point
@O
@ OO
@0
®EOE
@®O@
©/e) JI6
®®OE
@OO@
®®OE
@EOE

> ECnuv OTBET COAEPXUT AeCATUYHY0 AP0bb, 0683aTeNbHO 3aN0NHUTE KPYXXKU,
COOTBETCTBYHLLME BCeM YacTaM oTBeTa. Hanpumep, eciv Baww oteeT «0.78», 3aMosiHuTe
Kpy>Kn nog 0, «.», 7 n 8, kak B NMpumepe D. O6patuTe BHMUMaAHMeE, YTO 3TOT OTBET,
3anuvCcaHHbIn B BUe .78, Takke byaeT cumTaThes npaBuabHbiM (Mpumep E).

EXAMPLE D EXAMPLE E
(Answer: 0.78) (Answer: .78)

7|8

~l

COPO®OEOEOEIO| o
PEQQEOEOEOE

(@

©

oO@@@%@@@.OC>
®
ICICICICIOIOICIC

©JOI IOICICIOIOIOIO) ¢

®

Mpumepsbl D 1 E nokasbiBatoT A0MNYCTVIMbIE
CNOCOo6bI 3aMo/IHEHNS OZHOr0 1 TOro Xe oTBeTa.
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3anucb OTBETOB N0 MaTemMaTUuKe (npodosiceHue)

> He ocTaBnsiiTe nycTble A4erikn MexXy 3anolHeHHbIMKY. B TakoM ciiyyae oTBeT byaeT
3acynMTaH Kak HenpaBuabHbIA. Mpu oTBeTe «308» Mpumep F 3anosiHeH NpaBubHO.
B Mpumepe G mexay 0 n 8 ectb npoben, a He 0. 3To HeZOMYCTVMBbIN CMOCO6 3anmMcn OTBETa,
1 ByAeT 3acumTaH HenpaBWIbHbIA OTBET.

EXAMPLE F EXAMPLE G
(Answer: 308) \ (Answer: 38) 4
3/0/8 3| (8

'@0 0 0
0]0/0/© D (©)0)€
@G O |C
®BOG) QA GG
@@@|@) N.0,0lC
6]6]©66, ®Q|E
©O©EE) 0|®|E\E
0000 @OON
©je) JO ®®®
S

> He 3anonHarTe KPY>KOK NoJ Herncnosib3yemor a4elikoi, kak B Mpumepe H. OTeeT Mprnmepa
H 6yaeT 3acumTaH kak «3,080», T. K. KPY>XOK B nocieAHeM CTonbLe, CooTBeTCTBYOLWMI O,
3arnoJiHeH, Aaxe ecnu npejnosaraemMblii OTBeT 6bi1 «308».

EXAMPLE H
(Answer: 3080)

28



>

>

Ba)kHble npmnmedvdyaHumsa o 3anoJiIHEHM OTBETOB

YT06bI Balll OTBET 6bI/1 3aCUNTaH, KPY>XKW B Ce€TKe AOJ/DKHbI 6bITb 3alTPUXOBAHbI.

Ecnn Bbl HANMLWIMTe OTBET B iUelikax, HO He 3aMnoHUTe KPY>XKWN B C€TKe, Balll OTBET 6yAET
3aCYnNTaH Kak HeﬂpaBMﬂbeII\fl.

Ecnn oTBeT, 3an0NHEHHbIN B AYelikax, He COOTBETCTBYET 3aLUTPUXOBAHHbLIM KPYXXKaM,
TO B KayecTBe OTBeTa 6yAyT 3aCUMTaHbl UIMEHHO KPYXKHW (Kak B Mprmepe H).

Mpwv 3aN0IHEHNM B O4HOM CTON6Le 60/ee OAHOro Kpy>KKa OTBET ByAeT 3acunTaH Kak
HenpaBUAbHbI.

I'IpanmbelM MOJIHbI YMC/OBOV OTBET 6yAET 3aCYnTaH Kak npasmanb||7|, Aaxe eC/qin Bbl
CﬂyanHO Ha4dHeTe ero 3annmcb C HenpaBM1IbHOIo CTOJ'I6LI,a.

Mpu cnyvariHoM gob6aBneHUn AeCATUYHOrO pasgenutens (6es A0NoNHUTEIbHbIX 3HaUeHW
VAN HyNelt) Nocae LLeaoro Yncaa oTeeT byAeT 3acUnTaH Kak Lienoe Yncao. Hanpumep,

ec/in Bal oTBeT «5» (kak B [Mpumepe A), TO OTBET, 3aMOHEHHbIN Kak «5.» nan «5.0», byaeT
3acynTaH Kak oTBeT «5».
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